Math 161 - Calculus - Exam 1 - Guide Name:
September 12, 2024

On the exam you must show your

work to receive full credit.

1. Evaluate the following limits.:
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Give a formal defintion of the limit lim /() = L. jq= g (4o o Mgt o A )
() lim f(x) = L if, for any € > 0, there exists an M > 0 such that | f(x) — L| > € whenever x < M
() lim f(x) = L if, for any € > 0, there exists an M > 0 such that | f(x) — L| < € whenever x < M g
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() lim f(x) = Lif, for any € > 0, there exists an M > 0 such that | f(x)tL < € whenever x > M

(O lim f(x) = L if, for any € > 0, there exists an M >\0)such that | f(x) — L| > e whenever x > M
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Consider the given graph of the function f(x) = 2x — 1.
¥ .
1 Letc =3, L =5, and ¢ = 0.5. Select all values of é such that the given statement holds.

IfO < |x — | < &, then | f(x) - L| < e.
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Consider the function f(x) =wmd the formal definition of the limit, Xlilil4 flx)=2.

‘Which graph represents lim¢ f(x) =2xforé = 0.01?
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